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(5) A< SI5URL USR BUUAL ovalotd Ldlil Al ddl, AL sralol HI2 ‘Y’ )91 DAL 1Al
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Aqo 22141 HE2 dgdll 1Al s101l oliqUadl Guuiol s2dl. Ul Q121 524l adoedl 291 GHR1A <l
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dl G5eul ARl WAL Ghaaldl 521 w1 3.

(11) o4 d¥el 5165 Us 2141 v1Edl §d Aol 4Pl dl, [[Las v1Eal e d2ds w= youze s2dl «dl.

(12) s1s5 oad/vuHl/qi4l €M dl, o 21241 Hidl-[dL odls ulan 21851 2190 wlan siEsRld >1:9
Hisell w5l «dl. > ¢/ vl /Al Hist doilid 2584l didlld g1l sliddaisd ditgal

(13) @/ vl /aitl MSCE l deizisiz Uz dicyzedl »ilad Grzy ulies 2a1 vl 10 [Eauui sliddis
it

(14) HQIEIN 20291 A0 SIRQUUR UAHL YA 9 214 orQUAL Al dsral UMl 2GR Yorod di sidaé]
SRAML 2194,

(15) 4o WitaH 18 2199 HitHdl UHuBLsL 2UUE] G2 YO HILAHHT o QUYL ddL U2 HI2 21U WAL
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SECTION - II

MATHEMATICS

26.  Which of the following statements is false?
(1) Cuboid is three dimensional.
(2) Cuboid has 12 edges.
(3) All surfaces of a cuboid are square in shape.
(4) Length, breadth and height of a cuboid can be measured.

27.  How will you write twenty two thousand two hundred and fifty in international
number system?

(1) 22150 (2) 220
(3) R0 (4) 22250

28.  What is the perimeter of the adjacent figure?

2 cm
B
£ 2 cm a
(5]
° B
(g\]
£ 2 cm
a
4 cm
(1) 16 cm (2) 36 cm
(3) 18 cm (4) 30 cm

SPACE FOR ROUGH WORK
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[Qena - 11

aA[Q1a
26. <l sl s (At wid 97
(1) doad RRd € 9.
(2) dogdd 12 4R €1 9.
(3) dotaeddl ot YL ARUISR o €l 9.
(4) doaddl donsS, udiS w4 Glud widl as 9.

27 ‘dal ondlu ¢oaR’ Bl dvdl idRrZ dudiRieddi ddl dla dquien?
(1) 22150 (2) 2240
(3) 2220 (4) 22250

28, <dladl wugladl uR[la seqr wdl. 97

244l.
= 244l S
‘T .
“ F
T
(q\]
5 2%l
T
(o]
4%4ul.
(1) 16 =l (2) 36 =l
(3) 18 =l 4) 30 =l
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29.

30.

31.

32.

Dilip purchased a motorcycle for Rs. 35900. He spent Rs. 3780 on its repairs.
After some days, he sold the motorcycle for Rs. 40750. How much profit did
he make in this transaction?

(1) Rs. 1070 (2) Rs. 4850
(3) Rs. 36970 (4) Rs. 32120

At a ration shop, 85 sacks of wheat, 50 sacks of rice and 15 sacks of tur dal
was available for sale. If every sack contained 40 kg of grains, How much
grains in kilograms, were available for sale?

(1) 150 kg 2) 600 kg
(3) 6000 kg (4) 4000 kg

Which amongst > , < or = will be appropriate to fill in the boxes between,
the below given fractions.

3 6 7
y Ll gl
H =,> @) <.=<
) >, < 4 =, <

Pick out the wrong statement from the given statements.

(1) The product of any number and zero is zero.

(2) Multiplication of odd number with other odd number results in even number.
(3) Multiplicant x Multiplier = 0. Then either Multiplicant or Multiplier is zero.

(4) When same digit appears at the one’s place in two numbers then 8 will
not appear in one’s place of their product.

SPACE FOR ROUGH WORK
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29.

30.

31.

32.

[zedlu 35900 3MUumiedl »is Hi2zxusa viRlEl ddl “HRSIH W2 3780 3MdL vl
vy [cad [Gdlu ad Hiewmsd 40750 3(Uad 4l dl dd »l acrHl Sedl
sl gul?

(1) 1070 3Mua (2) 4850 3Mua

(3) 36970 3(uat (4) 32120 3Mua

Vs Ul Ulededl g5l 85 2L 4G, S0 2L AL, 15 2L dAR €l G UL
W2 2l 04 €25 2L 40 [5aL et €ld dl doudl Hleddl gsiaui 54
sedl (5L et d™9L W2 U ?

(1) 150 [saL. (2) 600 [sa
(3) 6000 (5. (4) 4000 (5.

A2l 2yiisidl oadlvil 92 suudl AlssML >, <, = i UL s Ried Ul
97

3 6 7
y Ll gl
n =, > @) <.<
3 >, < ) =<

wudl [Qadl sl viid [@Qaa ioil,
(1) s uQl dval sid geudl QUSSR Yo 67 2ild.
2) s wQl [AuH dvaid [Qud dval WiE 9RIdL HOLdL 2RISR UM Hudl o

MUBES

(3) A x Qs = 0 ¢l dl oy Edl 2s 0 el

(4)  SITUQL ol dvuslidl sisHEUl UHld 25 Sl dl ARISRAL BisHAA 8
il wis 2099 «dl.
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33.

34.

3s.

36.

37.

Roshni needed 1 hr. 30 min. to travel from Nagpur to Wardha. She took rest for
15 min. She completed Wardha to Yavatmal distance journey in 1 hr. 50 min.
If Roshni had started from Nagpur at 10 in the morning then at what time
will she reach Yavatmal?

(1) 20 min. past 1 (2) 35 min. past 3

(3) 35 min. past 1 (4) 35 min. past 12

The labour charge to paint a rectangular wall at the rate of Rs. 45 per sq.m.
1s Rs. 2700. If the length of the wall is 15 m, what must be the breadth of
the wall?

(1) 3 m (2) 180 m

(3) 60 m 4 4 m

12 kg + 1350 gm = How much?
(1) 1362 kg (2) 1362 gm
(3) 13.350 kg (4) 13.350 gm

Yogesh received Rs. 72 and 5 paisa as interest on his deposits in bank. How
will you write this in decimal form?

(1) Rs. 72.05 (2) Rs. 725

(3) Rs. 72.50 (4) Rs. 72.005

A merchant bought 300 sacks of wheat at Rs. 2500 per quintal. Due to heavy
rains, 70 sacks of grains were destroyed. He sold the remaining sacks at the
rate of Rs. 2700 per quintal. How much profit or loss did he make in this

transaction?
(1) Rs. 60000 profit (2) Rs. 129000 loss
(3) Rs. 175000 loss (4) Rs. 46000 profit

SPACE FOR ROUGH WORK
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33.

34.

35.

36.

37.

Aoedld ary2 el aal 20w |2 1 sdls 30 M2 apl. 15 mliaedl [@Qaidl
daded Al aal dl ugdauio v w1 sdls S0 [Mlazui ol sdl. o4 Riaedl
AR 10 apl dpiyzel «dlsadl ¢l dl d dadHia s2dl apl v ?

(1) 1 a. 20 [, 2) 3 al. 35 [,

3) 1 a. 35 [, 4) 12 a. 35 [

wis dolRAsR [caad @ 2 45 3 uld ARuHleAl €2 2700 3Muat
Hogdl wudl wd 9. o feaadl dousd 15 HleR €l dl d [Eadl ugious
Seal Ml ed?

(1) 3 4= (2) 180 =

(3) 60 #le: 4) 4 ¥=

12 (5. + 1350 am = sean?
(1) 1362 (s (2) 1362 am
(3) 13.350 [sau. (4) 13.350 W

diolad olsHidl argl w2 olidz 3(UdL wim UL sy HeY dl B Hval i
weldlmi $dl <dd dvna?

(1) 72.05 3[ua 2) 72.5 3

(3) 72.50 3[ua (4) 72.005 3Ma

wis duilal 2500 3. uld Bdeadt 2 aGdl 300 2l viRlel, 2ilagedld sirel
Avidl 70 ol iy wRiot 25 o, olsldl aGdl opl dwl 2700 3. uld
[deadl €2 dall €ldl, dl dd 21 deRHL A5l wdl 5 vii2? sedl 3M?
(1) 60000 3[uulL «sl (2) 129000 3Mual wii2

(3) 175000 3Muar w2 (4) 46000 3[uulL «sl
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38. For flood victims at Kolhapur, 5 social organisations contributed Rs. 12870,
Rs. 13850, Rs. 9640, Rs. 25390, Rs. 7450 respectively. How much total relief
fund was collected?

(1) Rs. 126250 (2) Rs. 222910
(3) Rs. 66750 (4) Rs. 69200

39. During a 3 day Drama festival, at the auditorium, out of 1250 seats, 12% seats
remained vacant on the first day, 10% seats were vacant on second day and
on third day 4% seats remained vacant. How many seats remained vacant in
total, during the three days?

(1) 150 (2) 250
(3) 325 4) 350

40. If 15t March is Monday, then which day will occur 5 times, in that month?
(1) Thursday (2) Wednesday
(3) Friday (4) Saturday

41. If the radius of a circle is % cm, then what is its diameter in cms?
(1) 3.5 cm (2) 14 cm
3) 35 m (4) 7 cm

42.  The numbers 78312, 78135, 78351 and 78531 are arranged in descending order.
What will be the sum of the 15t number and 3" number from the right side?

(1) 156882 (2) 156447
(3) 156843 (4) 156446

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

42.

Syl YAl Hee M2 Uiy daieudl acdiizl widsH 3L 12870,
3. 13850, 3L 9640, 3L 25390, 3L 7450 «l #ee s3. dl g4 ke 3w
Heedl 28U orHL 27

(1) 126250 3Mua (2) 222910 3Mua
(3) 66750 3[uul (4) 69200 3Muat

AQL [EqUel lZd HEIRAHL lZd UeRledlL 1250 sl Ul uéal [ead 12%,
ofloa [eadd 10% i dloa [ad 4% 2uedl widl el ¢ dl 20 [EauHl 54

odl wudl vidl e ?

(1) 150 (2) 250
(3) 325 4) 350

Y N

15 IR AHAR 9. dl d Hedml sa1 AR wi™ Qud 2199 ?

(1) 2A3AR (2) oHAR
(3) YsdR 4)  alqar
s adodl Bleew 5 Al B, dl ddl ear e @l edl?
(1) 3.5 =l (2) 14 |l
(3) 3.5 4. 4) 7 adl.

78312, 78135, 78351, 78531 il dvdizll Gddl sH 2usdl duidl uddl 4
orullotsydl Hlloy dvadl sl s2dl?

(1) 156882 (2) 156447
(3) 156843 4) 156446
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43.  Fifteen litres two hundred ml. — Thirteen litres five hundred and
thirty ml. = How much?
(1) Two litres six hundred and seventy ml.
(2) 1.670 ml.
(3) One litre six hundred and seventy ml.
4) 2.670 ml.

44.  Which of the following is completely divisible by 3?

(1) 7553 (2) 1733
(3) 2352 (4) 9851
45. Which of the following expressions is equivalent to the fraction %?
3 2 8 6
1 5-7 @ 573
4,3 5, 2
3) 3+3 @ F+7

46.  Pranav wants to buy a plot for Rs. 2417300 but he has Rs. 712300 with him.
He will have to arrange the remaining amount from bank loan. How much
amount should he borrow as loan?

(1) Rs. Seventeen lakhs five thousand

(2) Rs. Seventeen lakhs fifty thousand

(3) Rs. Seventeen lakhs

(4) Rs. Seventeen lakhs five thousand and three hundred

47. 12 hours 18 min. — 6 hrs. 45 min. = how much?
(1) 5 hrs. 73 min. (2) 5 hrs. 33 min.
(3) 5 hrs. 78 min. (4) 6 hrs. 27 min.

SPACE FOR ROUGH WORK
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43.

44.

45.

46.

47.

Yex dler ol Mdl — dr (@R uinabla Ml = Seal?
(1) o [@2z 9211 2dldz [l

(2) 1.670 [wdl.

(3) »is (@22 921l dldz [l

4) 2.670 [wdl.

dlRidl Usl 595 Hvuld A0l a3 [A:gm ®per oau?

(1) 7553 (2) 1733
(3) 2352 4) 9851
%—4 L 2AYRUS AUl vail USL s vulidl uuHed wyells 97
ay 3-2 @ §-%2
® §+3 @ 747

uQldd 2417300 MUl iz wilel saudl 9. uld a«dl w 712300 3MUa
9. olsldl 2suedl Al did dadl 9. dl dgl sedl 3l did ddl uga?
(1) duR 4l YA ¢

(2) YR v YA ¢ONR

(3) U Av

(4) UTR Alvl ™ €oR ARIRL

12 sa1s 18 M. — 6 sas 45 M. = %eal?
(1) S sas 73 M. (2) 5 sdls 33 [,
(3) 5 sals 78 M. 4) 6 sals 27 M.
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48. What is the sum of all the divisors of 90?
(1) 233 (2) 228

(3) 204 4) 234

49. If the fractions are arranged in ascending order, what will be double of the
fraction at the second last place?

r 1 1 1 1
4 > 7 >8> 2 5
2 2
1 = @ 3
1 2
3) 5 4 5

50. Ramesh and Sudha deposited same amount at two different places. Ramesh got
interest at 8 p.c.p.a. and Sudha got interest at 7.5 p.c.p.a. If Ramesh has got
Rs. 500 more than Sudha, then find the amount that Ramesh had deposited.

(1) Rs. 100000 (2) Rs. 50000

(3) Rs. 7500 (4) Rs. 150000

51.  Choose the correct option to fill in the box.
932004 — [ | = 59896
(1) 991900 (2) 927892

(3) 857898 (4) 872108

SPACE FOR ROUGH WORK
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48. 90 <l ol [AMorsidl w0l s24l?
(1) 233 2) 228

(3) 204 4) 234

49. Ul 2YQU5 Azdi sH 2UsAAL el oflon wiyellsdl oMl sean?

~
[S—Y
S~

N[— 0 |~
~
)
N

50. M i HAp wis Al W2 wRvil s opelogdl svouinl wuel dalls sl Had
€. € W 8 el R ud YUId €. A € W 7.5 Al R Uy HY, o4 HAd

NN\

AL 52l 500 3(Ual 98R Heul €l dl 49 sedl 2sH oAl azls sl edl?
(1) 100000 (2) 50000

(3) 7500 (4) 150000

51.  vidl ALSSML 2UdAl Ul ovdleidl udld e .
932004 — [ ] = 59896
(1) 991900 2) 927892

(3) 857898 4) 872108
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52.

53.

54.

5S.

S6.

57.

Rutuja had some amount. She distributed it among 47 students. When she
gave Rs. 50 to each student, Rs. 37 were left with her. How much amount
did she have?

(1) Rs. 2350 (2) Rs. 2387

(3) Rs. 2313 (4) Rs. 1897

2 lakhs + 13 thousands + 72 hundreds + 38 tens + 13 units = ?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

2 tens + 3 units + 5 hundredth + 8 one tenth = ?
(1) 23.58 (2) 2358
(3) 238.5 (4) 23.85

Select the incorrect option from the given alternatives.

I Ream = papers
(1) 20 quires (2) 40 gross
(3) 480 sheets (4) 40 dozen

The sum of two numbers is 39.62. If one number is 1.259 then what will be
the other number?

(1) 2.703 (2) 27.03

(3) 38.361 (4) 40.879

What will be the simple interest on the principal of Rs. 5000 at 7 p.c.p.a in

3 years?
(1) Rs. 10500 (2) Rs. 105
(3) Rs. 1500 (4) Rs. 1050
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52.

S3.

54.

5S.

56.

57.

#don wA Sedls 2sH edl. d Usl €5 [Qzneld S0 3Ma wMgl 47 ([Qzndliiq
QéAdl, d«dl wa 37 3 oul, dloedoa WA sedl H edl?

(1) 2350 3L (2) 2387 3L

(3) 2313 3L (4)

2 4 4+ 13 €52 + 72 Uds + 38 cus + 13 wisu

1897 3L

(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

2 gus 4+ 3 WiSH + 5 gl + 8 culu = seal?
(1) 23.58 2) 2358
(3) 238.5 4) 23.85

ARl walal USl sdi uul v 9 A vl

1w = s
(1) 20 =l (2) 40 A
(3) 480 (4) 40 s+

ol AvU2Aldl dA00 39.62 9. o4 Bl AHvAl 1.259 €1 di ol duul 597

(1) 2.703 2) 27.03
(3) 38.361 4) 40.879

£A8d. 7 dl €2 5000 3[Rl Hgedd 3 ard cuer Sedl 3MuuL wal?

(1) 10500 3(ua )
(3) 1500 3Mua 4)

105 3Mua
1050 3Mat
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58. Neha walks daily to complete 5 rounds along a triangular ground whose every
side is 100m. Then, How much distance does she cover walking around the

ground in one week?
(1) 12 km

(2) 3 km 500 m
(3) 14 km 500 m
(4) 10 km 500 m

59. Select the correct option from the following expressions.
(1) 24 - 12 +3 x5 =27
2) 18 -10+3 x2=2
3) 15 x 12 -2+ 4=176
4) 18 +30 +3 x 2 =32

60.  Which of the following angles has measured less than }7 times of 360°?
(1) Right angle (2) Obtuse angle
(3) Acute angle (4) Reflex angle

61. There are 1600 students in a school. What will be the number of boys in the
school, if there are 48% girls?

(1) 768 (2) 832
(3) 52 (4) 640
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58.

59.

60.

61.

dél €RUoy €25 ollyy 100 HI2R ¢ld ddl [Asigugla Helad S &1 adld gl 52

9. dl d s vsalenl Heldl Rd sed vidr wdld yeol R 97
(1) 12 [s.Hl.

2) 3 (5.4l 500 #122

(3) 14 [s.4l. 500 #le=

4) 10 (5.4l 500 #l22

dlRidl Sl 2109 ugidld Uit Gl €l d uMiM uHE SR

(1) 24 — 12+ 3 x5=27
2) 18 — 10 +3 x 2 =2
(3) 15x 12 -2+ 4 =176
4) 18 +30 + 3 x 2 =32

el UL sur vioud WM 360° Al 2L skl il G D7
(1)  slesiel (2) 2135191
(3) 4gsivl 4) [Qudla s

Y =\ Y

wis Aoudl 4 dval 1600 9. o4 UM 48% OB €l dl d - AluMi
szl vl $2dl?

(1) 768 (2) 832

(3) 52 (4) 640
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62. Joseph bought 2 pens at the rate of Rs. 12 and 50 paisa and 5 pencils at the
rate of Rs. 5 and 25 paisa. How much amount did he spend on his purchase?

S. . S. .
(1) Rs. 17.75 (2) Rs. 51.25
(3) Rs. 3525 4) Rs. 37.25
63.
+ + = How much?
127 7
(O @) 1z
127 1
3) i 4 =5

64. Double of the common factors of two co-prime numbers is
(1) Smaller of the two co-prime numbers.
(2) Greater of the two co-prime numbers.
3) 1
“4) 2
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62. oddg 12 30U SO Ul €2 ol Ud Bt 5 (WAL 25 Ul €2 i ufcudl
dadl dldl, dl oaus sa seal 3l wlel 5207

(1) 17.75 3lual (2) 51.25 3fua
(3) 35.25 3luul (4) 37.25 3w
63.
+ + = sedi?
DR @ i
3) @ 5
64. Ol UCHI ULUBUAL AHIL DAl OHEUIL —--- €l 99,

(1) o Ay dvazll Ul «edl wva
2) o Ay vl Ul WiZl wva
3) 1
“4) 2

-~
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Instruction for Question No. 65 and 66.

Solve the questions referring to the pictorial diagram given.

Scale : (1 @ = 20 trees)

Participating schools in tree plantation No. of trees planted
Dnyanda Vidyalaya @ @ @ @ @
Vidya Niketan School @ @ @
Z. P. Primary School @ @
Sadhana Vidyalaya Cz.;} @ @ @
Adarsh Vidyalaya @ @ @
65. How many more trees did Dnyanada Vidyalaya plant than Sadhana Vidyalaya?
(1 1 2 9
(3) 20 (4) 50

66. How many trees were planted in all, by the participating schools during the
tree plantation programme?
(1 17 (2) 340
3) 20 4) 170

67. FEight thousand seven hundred and twelve + Twelve thousand seven hundred
and fifty = How much?
(1) 21462 (2) 22462
(3) 20962 (4) 21962

SPACE FOR ROUGH WORK
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U. 5. 65 i 66 HIZ YUl -
dlddl Razu Hlddldal uaR dlddl Usidl orast Qull.

(ML 1 @ = 20 98l

qaRuML dseueil s

J

P~
L
N

Al qadl Huan

® &

Aldgl [A2nau

[Q2nldsaa o

2. U U™ A

AL [a2nau

vl [aBnau @ @ @

65.  dhedl [A2uau sdl el [Q2uad edl qaR gal Ael?
(1 1 2 9
(3) 20 4) 50

e R
e R
%> oD

&

66.  AARIUQL sPisH iddld dedpdll wouslp 54 s2dl 9al Ai?
(1) 17 (2) 340
(3) 20 4) 170

67. S SR AUAAL ClR + QUL d2 €52 = sedl?
(1) 21462 (2) 22462
(3) 20962 (4) 21962
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68.

69.

70.

71.

Soham exchanged 6 notes of Rs. 2000 with equal number of notes of Rs. 100
and Rs. 50. How many notes of Rs. 100 will he get?

(1) 120 (2) 40
(3) 80 4) 160

Using the digits 3, 2, 5, 0, 8 atleast once, a smallest 6 digit odd number is
formed. What will be the product of the digits at one’s and hundred’s place?

(1) 24 (2) 40
(3) 15 4) 16

Nisha sold an article at Rs. 1730 which she had purchased at Rs. 1350. How
much profit or loss did she make?

(1) Rs. 420 profit (2) Rs. 380 loss
(3) Rs. 420 loss (4) Rs. 380 profit

A cube is formed by folding the adjoining figure.
Which digit will not appear on the cube, to the
adjacent side of 4?

(1) 16
2) 36
3) 25
4 9

36 | 16

25
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68.

69.

70.

71.

~

Aled 2000 3Mwdl 6 gl otgdld 100 3L 2id S0 3l vl Avami
izl dldl ¢l dl, ad 100 3l 3edl izl waa?

(1) 120 (2) 40

(3) 80 4) 160

3, 2, 5, 0, 8 2 €35 »is 29l 2Ugl 25 AR auddd didiml didl 9 is)
[Quu wval AUz sRAl 2l Vi dds Al Visidl 2UsR 2dl?

(1) 24 (2) 40

(3) 15 4) 16

[ 1350 3(ud dladl »is azq 1730 3(UA dl. 2l dAeRHL dd seal
3L gl § wiie A7

(1) 420 3Muul «sl (2) 380 3[uul w2

(3) 420 3luul w2 (4) 380 3[uul «sl

ollog«ll ofagildl vlisd w2 Al Alld Adl 25 ad oidladl
4 uis ¢l odal yesepEl oAsEAl YMAIIL U sl vis
w199 «d]? 9 | 4
(1) 16 36 | 16
(2) 36
(3) 25
“4) 9

25
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72.  Which of the following statements is FALSE, with respect to triangular numbers
and square numbers.

(1) Half the product of 2 consecutive numbers gives a triangular number.
(2) 1 1s triangular as well as square number.

(3) When a number is multiplied by the number itself, the result is a square
number.

(4) The product of two consecutive numbers is a triangular number.

73.  What will be the 5t number, from left side when the 2 digit numbers divisible
by 12 are arranged in descending order?

(1) 60 Q) 12
(3) 48 4) 36

74. Out of 12 km 300 m distance, Afroz covered 9 km 500 m distance on bicycle.
She covered the remaining distance running. How much distance, did she cover

running?
(1) 2.8 km (2) 2.800 m
(3) 3.200 m (4) 21.800 km

75. For a trip in the month of May, Swara booked air tickets in advance for
Rs. 5780. Due to some reason, she had to cancel the ticket. She got an amount
back with the deduction of 30%. How much loss did she suffer?

(1) Rs. 1734 (2) Rs. 1534
(3) Rs. 1724 (4) Rs. 1504
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72.

73.

74.

75.

Psioll 2d ARy dvaedl onold «dldl Ul sy [ wid 97

-~

(1) ol sHls vaiidl 2Rusikdl vistl sEl Bisiel vl Ha 6,
2) 1 » sl »id ARA v 9.
(3) 2udl wvdid d ooy wudl 4d ARldl HAdL Hvul ARU vl Sl 9,

4) ol sHls vaiidl opusik seaEl Bsiel wdva WA 9.

12 a3 [Aciear ¢l adl o »isl dvaiiid Gazdl sH olisadl slell  ousyel
uial dval 5957

(1) 60 2) 12
(3) 48 4) 36

vigioy 12 [sdl 300 #lez »iar Usl 9 (54l 500 ez »idz uwusadl s 9.

-~

olsld, 2idR d idld 51U 9. dl agl eidld siug viar $2q?
(1) 2.8 (54l (2) 2.800 #le:
(3) 3.200 #le: (4) 21.800 [s4l.

2Runl WGl wdeani oAl HI2 Yol #l [eedldl adal saddl [Qadl (2512
5780 3fumHi »udl. widq s sReUUR A€l d Rsle 2gg s dl dd 30% M
sidld ongldl 258 Holl. dl 294 329 dsuid 247

(1) 1734 3Me (2) 1534 3Me
(3) 1724 3Me (4) 1504 3Mua
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